1B T ) SR np RS

s-wave: |ag)=[l=0;5=1)
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1
)= 7—FVIé (2)
(kia|@) = ZE TZ (kia|V |kja') (kjo!|¢)
1
of By
1
= Z Zw]kg—sz(k,a, kja') <kj0£’|¢>
o g E— ﬁ
Xﬂka)ﬁﬂiﬁﬂl, T%%IJ (i&cu = wjkz/(E — k2/2/.1,))
(ki0|¢) = Z%V(k 0, k;0) (k,0|¢) + Zc” V (ki0, k;2) (k;2|6)
(4)

(ki2|¢) = ch (ki2, k;0) (k,0|¢) +Zc” (ki2, k;2) (k;2|¢)
R PRREREREN (KEN2*np) -
0\ (Ao Ao\ (%o
(¢2> a (A20 Az2) <¢2> 5)
WAGSTZREL (KEAnp) @ @ = ¢o + o
DIEHIER (KeVHd—1)E) : D% = (¢2|®) = (p2|d2)

I E
(OIT +V|¢) =(¢|T |¢) + <¢|V |¢>
= Z Z w;k wjk2k2 ¢|kia>v(kia’ kjal) <kjal|¢> (6)
aa' ij
—sum((¢3 + ¢3) * w * k4 Z wiw;k; k3o (7)o () Voo (i) +

Krylov? S GIKCRTS

KR REFRGTAE R A AAEE ]
AR AR ) ARE RS -


af://n0
af://n14

0.010
0.007
100

75 -0.002

50

HE: HEWT RARRHEE — Bk R
K, = [b, Ab, A%b, ---, A" 1}] (7)

BUER 7575 Arnoldi iteration

M
H(n,n)NA(N, N)TEFZEMK,NIERE, Q(N,n) = {g.(N)} T2 EIRIE
(11 hi2 hig - hig
hs1 hoz haz -+ ha,
H,— |0 hsa hsz - hi, (9)
| 0 e 0 hn,nfl hn,n_

# H, A MHES AIERE A {v} (KENn) , WAKBEOAEE S AERE{A}
F{Qu} (KEHNN) .
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18 Id Gram—Schmidt processIE22V5E )R g1, g2, 93+ -+, ¢n, PUFAmnoldi vectors, EAITIKAL T
Krylov subspace /C,,c EAREEIEN:

o (ERH—LHIGAIR G (FK LOIFFRE LR R 4T)
o« WTk=23,--
ar < Agr—1 # FIEERIE
o MTFj=1,2--,k—1

hjk-1 4 q;qk
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Qk <+ qr — hjx1q; # MERIERA
o hipp1 ¢ |lgrl| # NHBREELG, RAIMEEN REEEL — 145195055
o qi + qi/hrr1 #IH—LEIR

function arnoldi_bases(A, q0, miniter, maxiter, tol;
howmany=1, kstep=1

n = size(A, 1)
H = zeros(maxiter + 1, maxiter)
Q = zeros(n, maxiter + 1)

Q[:, 1] += normalize(q@)
A = zeros(ComplexF64, howmany)
A0 = zeros(ComplexF64, howmany)
k cut =0
converge_info = false
for k in 2:maxiter+1
k cut = k
AD = A
v = gview Q[:, k]
mul!(v, A, @view Q[:, k-11)
for j in 1:k-1
vj = aview Q[:, jl
H[j, k-1] = dot(vj, v)
v «—= H[Jj, k-1] .* vj
end
Hlk, k-11 = norm(v)
normalize!(v)

if k > miniter & k > howmany + 2 & k % kstep = 0

A o= eigvals(H[1:(k-1), 1:(k-1)], sortby=abs)
[end:-1:end-howmany+1]
if all(abs.(A «— AQ) .< tol)
println("Converged when k = $(k) \n A = $(A)")

converge_info = true



break
end
end
if k > maxiter
println("Probably not converged")
end
end
return A, Q[:, 1:k _cut-1], H[1:(k_cut-1), 1:(k_cut-1)1,
converge_info

end
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